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AR NEREALR 2A  SAHED
M TASExH
Cel: HECABAZY CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
OALLIRISREANY 870
SN 2S 58,000 61,000 A 3,000
201 Lt 58,000 61,000 A 3,000
01 At 22l 55,000 58,000 A 3,000
Opt=2Hl 18,000
O ANHEEAJB YA AX A SN EZFAUS 18,000
O=2g=¢ 37,000
OEANHEAAS =0 37,000
03 AH2 S HI 3,000 3,000 0
OEAMAEEE SRS 3,000
S AOISEE M A = &t 600,000 0 600,000
= 600,000
403 HXSHHSA=0l& 600,000 0 600,000
= 600,000
01 HXSHMA2E X 600,000 0 600,000
OZAHEEEMA RS A 600,000
= 600,000
AEHOIEEHSAA 1,360,000 160,000 1,200,000
308 XXM SO A 160,000 160,000 0
01 AXHHBLEES 160,000 160,000 0
OEUTREANSHXA 160,000
403 A X EHHS =0l A 1,200,000 0 1,200,000
01 X EHHMA=LE L 1,200,000 0 1,200,000
OS2 E 1,200,000
S ATHA A 3,091,000 3,200,000 A 109,000
Xl 3,091,000
403 MHXSHHSA=0l& 3,091,000 3,200,000 109,000
Xl 3,091,000
01 X SHMA2E X 3,091,000 3,200,000 A 109,000
OSA MMM (KNSAZ) 3,000,000
Xl 3,000,000
OYFPH NN EY NS ELAS (RISAIZ) 91,000
X 91,000
SAIHE - THEALS 18,200 18,200 0
201 Let24dH] 5,000 5,000 0
03 AH2 S HI 5,000 5,000 0
OZEANELEANMRATS 5,000
202 O4dl 13,200 13,200 0
01 = LH 4 Hi 13,200 13,200 0




AR NEREALR 2A  SAHED
M TASExH
Cel: HECABAZY CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
OZAHEE =804 13,200
TAESAS 11,960,750 9,356,000 2,604,750
403 MtXSHHE X0l E 11,960,750 9,356,000 2,604,750
01 AXISHHA=2E = 11,960,750 9,356,000 2,604,750
OEANESAEY 11,960,750
&2t 1,000 101,000 100,000
201 Let24d] 1,000 1,000 0
02 232gHl 1,000 1,000 0
O332aYAA 1,000
Ot==2dE3H3H| 1,000
NEAHL D&l AL R~ 30,000 0 30,000
307 glz2tol & 30,000 0 30,000
04 QIZFHALAIH E = 30,000 0 30,000
OXSALIIael I AE X & 30,000
EXNoss8 2L 7,741,000 17,678,059 29,937,059
= 4,750,000
Xl 2,410,000
< 581,000
EXN+=Ef2Z 46,000 48,059 A 2,059
201 Let24d] 33,000 35,059 A 2,059
01 At 22l 30,000 32,059 A 2,059
Opt=2Hl 21,000
OEXN=s82EdYLAENERUS 21,000
O=2g8=¢ 9,000
OEXN=22A3FH=220H| 9,000
02 =224l 3,000 3,000 0
O2323YAA 3,000
OCEXN=B2MIENLSE 3,000
202 o4dl 13,000 13,000 0
01 = LH o4 1l 13,000 13,000 0
OEX0EHRFA0H 13,000
L RIS A e S AFE H A 60,000 60,000 0
401 AIEHI L 201 60,000 60,000 0
01 A& HI 60,000 60,000 0
ONEHEASESMITRSES 60,000
HEHIEH =2 2t el 45,000 45,000 0
X 45,000
201 Let249] 5,000 5,000 0
Xl 5,000




M ox
40 5 4

A SA - SAEA) - MRAY - BES 0l &t o il HImEET

01 At 22l 5,000 5,000 0
Oget==&H| 5,000
OMgHe A2 HERAS(NSEY) 5,000
X 5,000

308 X EHHSOIA 40,000 40,000 0
Xl 40,000

01 HIXNHHBMNEELS 40,000 40,000 0
OHgHe A2l (ANSsY) 40,000
Xl 40,000

HE et A0 X2 ALY 2,365,000 3,852,000 A 1,487,000
Xl 2,365,000

403 MtXSHHE =01 & 2,365,000 3,852,000 A 1,487,000
Xl 2,365,000

01 XM A=2EE 2,365,000 3,852,000 A 1,487,000
O RAG=AXNAAL(NESY) 2,365,000
Xl 2,365,000

FEOIZSHRAEFHANAS KA 5,225,000 13,673,000 28,448,000
= 4,750,000
= 475,000

403 MtXI S S X201 & 5,225,000 13,673,000 A 8,448,000
= 4,750,000
< 475,000

01 AXSHMA2E = 5,225,000 13,673,000 A 8,448,000
O=e02S0HP2AFHIUAS X ALY 5,225,000
= 4,750,000
< 475,000

HEHAHHT A 8,792,133 16,554,300 ANT,762,167
Xl 6,511,000
< 2,281,133

MAEHTHE XA 8,792,133 16,554,300 ANT,762,167
X 6,511,000
< 2,281,133

MHHHISHEFHLEXZ 4,630,000 7,771,000 A 3,141,000
Xl 4,630,000

403 A X EHHS 20l A 4,630,000 7,771,000 A 3,141,000
Xl 4,630,000

01 X EHHMA=LE L 4,630,000 7,771,000 A 3,141,000
Oagalsgsa+c A8 (XSE) 4,630,000
Xl 4,630,000

MHHISSAEEEH 672,000 700,000 A 28,000

403 XSS A=0l& 672,000 700,000 A 28,000

01 HXSHMA2E X 672,000 700,000 A 28,000
O =33 AEE3H 672,000
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A= XNEggde= PN LIRS
Ha: AR NLET
Sl NS HLUN A Y =X (B9 ®R)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
OXSG9 LA =8 4,800
JLOFESHAANB NG X E ALY 1,300,000 4,030,000 A 2,730,000
Xl 1,300,000
403 MtXISHH S0l & 1,300,000 4,030,000 A 2,730,000
Xl 1,300,000
01 AXSHMA=2EE 1,300,000 4,030,000 A 2,730,000
OJIOF2St A AE RS X E A (KIS EHI) 1,300,000
X 1,300,000
KGN LHE =L EAE I 500,000 300,000 200,000
401 AIEHI L 201 500,000 300,000 200,000
01 A& Bl 496,000 297,000 199,000
OHNEsdENgeAHe-824 496,000
03 Al 2 THHI 4,000 3,000 1,000
ONEsdEldigHe+88d 4,000
NeWL XA (BFEETI L) 2,377,000 0 2,377,000
Xl 2,377,000
403 MtXISHE X201 E 2,377,000 0 2,377,000
Xl 2,377,000
01 XM A=2EE 2,377,000 0 2,377,000
OXSGHLXAAS (KNS AIZ) 2,377,000
X 2,377,000
NS HEAFL 12,967,000 6,785,000 6,182,000
Xl 12,013,000
< 954,000
ANAHSMEHSFHAAY 12,874,000 6,582,000 6,292,000
Xl 11,920,000
< 954,000
403 A X EHHS =0l A 12,874,000 6,582,000 6,292,000
Xl 11,920,000
< 954,000
01 X EHHMA=ZLE L 12,874,000 6,582,000 6,292,000
OXNSH=2HSAFHAAY 12,874,000
OHEZAS (RISAIZ) 7,487,000
X 7,030,000
< 457,000
OMETISAE (RISAIZ) 5,387,000
Xl 4,890,000
< 497,000
MEALEH S KR 93,000 203,000 A 110,000
X 93,000
201 ¢er24| 38,000 35,000 3,000
Xl 38,000
01 At 2t 2l 28,000 25,000 3,000
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AR NEREALR SN RYESEAL
M yEcywelda
ol MBI K AME /ALY S (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
OZ=SCcgde| 2 AZINAH B (NS
gl) 21,000
Xl 10,500
< 10,500
307 glz2tol & 350,000 190,000 160,000
X 175,000
< 175,000
05 RIZt & = 350,000 30,000 320,000
OUStASI XN FEEHA L2 LEHAZEA (XS
<) 350,000
Xl 175,000
< 175,000
308 AHAIEHHSOIA 120,000 240,000 A 120,000
X 60,000
< 60,000
01 HIXNHHNBMNELS 120,000 240,000 A 120,000
OMSASI XA X AAL (KNS ZH) 100,000
Xl 50,000
< 50,000
OZ=scgdeg2(XNschl) 20,000
X 10,000
< 10,000
405 XHoHF S HI 30,000 200,000 A 170,000
X 15,000
< 15,000
01 AL ESFH S 30,000 200,000 A 170,000
OMSARIXNJMMEHEINZTS (NS ZH|) 30,000
Xl 15,000
< 15,000
SENFAANAMNLSHAML (BN XL) 117,000 130,000 13,000
308 XXM SO A 117,000 130,000 A 13,000
01 AXHHBSEES 117,000 130,000 A 13,000
Od383ANEBHEANG MBS 117,000
HE2LAIH (ZE LM H) 174,480 36,010 138,470
Xl 110,000
= 64,480
ol eyl 110,000 0 110,000
Xl 110,000
olA2HYI(BX) 110,000 0 110,000
Xl 110,000
101 14l 110,000 0 110,000
Xl 110,000
02 JIEtE B = 110,000 0 110,000
OMSALMFEo g AR 110,000
OdE8(NsEsY) 42,000,000& »2&H 84,000
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A £ O & Ak H AN A
NENELEEE 2N ERECDY
Hu: Daczis
oelr DR RHE (B9 ®R)
SN -FH-SA(BA) - HRAY - B il HlnE2
=g 277,510,547 228,759,834 48,750,713
Xl 140,367,000
< 137,143,547
NG =z2d4 1,400,000 0 1,400,000
DEE2ES 1,400,000 0 1,400,000
AFHE D2 HLAX A 1,400,000 0 1,400,000
308 XXIEHH SOl A 1,400,000 0 1,400,000
11IIEtRE3 1,400,000 0 1,400,000
Oa8 (AN ICK SR 1,400,000
NECHAL SR 247,153,285 207,851,172 39,302,113
X 140,367,000
= 106,786,285
TEE 232,980,613 194,945,300 38,035,313
Xl 135,222,000
= 97,758,613
SYRAAINEHSL 35,956,000 25,000,000 10,956,000
Xl 32,000,000
= 3,956,000
401 A& BIZ 201 8I 35,956,000 25,000,000 10,956,000
Xl 32,000,000
< 3,956,000
01 A& HI 35,286,000 24,331,000 10,955,000
OSYRAHAASNEAHE(RNESY) 35,286,000
X 31,330,000
< 3,956,000
02 Zeltl 650,000 650,000 0
OSERHAUA=ZXN AL 2H(ANSESY) 650,000
Xl 650,000
03 Al 20 HI 20,000 19,000 1,000
OSE2AAINEHEANEL2UHE(NSEY) 20,000
Xl 20,000
) P SN I b= 22,489,000 26,931,000 A4,442,000
Xl 15,840,000
< 6,649,000
401 Al Bl 28I 22,489,000 26,931,000 A4,442,000
Xl 15,840,000
< 6,649,000
01 A& HI 21,969,000 26,411,000 A4,442,000
OR2BHMAIXNEHE (RNSSY) 21,969,000
Xl 15,320,000
< 6,649,000
02 2eltl 500,000 500,000 0
OR2HMA2 RN AL 2H(NESY) 500,000
Xl 500,000




A NG9RgAL=3 M E2EESE
M NYCALHER
Sl XY EEE CERED
AR .24 BH-BAGEN) - NRANY - BES 0l &t o8 il HlnE2
03 AIE 2 0HHI 20,000 20,000 0
ONZBHMAIXNEHEANLERUH (NSSY) 20,000
Xl 20,000
ST HL 6,000,000 11,000, 000 25,000,000
Xl 5,400,000
< 600,000
401 Al B2 28I 6,000,000 11,000, 000 25,000,000
Xl 5,400,000
< 600,000
01 A& HI 5,690,000 10,600, 000 24,910,000
Os2dMAAIXNEHAE (RNESY) 5,690,000
Xl 5,100,000
< 590,000
02 Zeldl 300,000 400,000 A 100,000
OsgagdaxcAd2elb(ASEY) 300,000
Xl 300,000
03 A& =2 THHI 10,000 0 10,000
OsLdMAAI RN HHEALEL2UE(NSSY) 10,000
SELFEZAE 33,333,000 25,000,000 8,333,000
Xl 30,000,000
< 3,333,000
401 AIEHIZ 28I 33,333,000 25,000,000 8,333,000
X 30,000,000
< 3,333,000
01 A& tl 32,813,000 24,680,000 8,133,000
O2ELFE22XNEHE(NESY) 32,813,000
Xl 29,480,000
= 3,333,000
02 Zeltl 500,000 300,000 200,000
O28dFxc22ANEAHLE2Z2B(NSESY) 500,000
Xl 500,000
03 Al =20 HI 20,000 20,000 0
OSELFC2RNEHEANERUL(NESY) 20,000
X 20,000
DM AIXNEHL 9,489,000 12,000, 000 A 2,511,000
Xl 8,000,000
< 1,489,000
401 Al& I 28I 9,489,000 12,000, 000 A2,511,000
Xl 8,000,000
< 1,489,000
01 A& HI 8,974,000 11,890,000 22,916,000
OGN AIXNEHE(RNSESY) 8,974,000
Xl 7,490,000
< 1,484,000
02 Zeldl 500,000 100,000 400,000




A NG9RgAL=3 M E2EESE
M NYCALHER
Sl XY EEE CERED
AR .24 BH-BAGEN) - NRANY - BES 0l &t o8 il HlnE2
OGN AIZXNEHE2elB(NESY) 500,000
Xl 500,000
03 A& =2 THHI 15,000 10,000 5,000
OGN AIRNEHHEANERUH(NSSY) 15,000
Xl 10,000
= 5,000
ZwdN=XNEHE 22,889,000 15,847,000 7,042,000
Xl 8,000,000
< 14,889,000
401 Al HI 2 28I 22,889,000 15,847,000 7,042,000
X 8,000,000
< 14,889,000
01 A& HI 22,574,000 15,547,000 7,027,000
OZXDLNAIXNEHE(ANESY) 22,574,000
Xl 7,685,000
< 14,889,000
02 Zeltl 300,000 300,000 0
OZXngdnNAIN A28 (ANESY) 300,000
Xl 300,000
03 Al =20 HI 15,000 0 15,000
OZDWLNAIXNCHHEANELUHE(NESY) 15,000
Xl 15,000
EE2RHEHHL 11,111,000 5,500,000 5,611,000
Xl 10,000,000
< 1,111,000
401 Al HI L 2 THHI 11,111,000 5,500,000 5,611,000
Xl 10,000,000
< 1,111,000
01 A& HI 10,791,000 5,300,000 5,491,000
OFE2RHEAL(NSEEY) 10,791,000
Xl 9,680,000
< 1,111,000
02 Zteltl 300,000 200,000 100,000
O 22HEHE22H(RNSEEY) 300,000
Xl 300,000
03 A& =TI 20,000 0 20,000
OFCS2HEAEANER2UHB(NSSY) 20,000
Xl 20,000
CHAPS A 2F I X SO0 & 8,667,000 5,100,000 3,567,000
Xl 6,000,000
< 2,667,000
401 AlEHI 22 OhYI 8,667,000 5,100,000 3,567,000
Xl 6,000,000
= 2,667,000
01 A& HI 8,557,000 4,785,000 3,772,000




A NG9RgAL=3 M E2EESE
M NYCALHER
Sl XY EEE CERED
SN -FH-SA(BA) - HRAY - B 0l &t o8 il HlnE2
OSHMEAAITNCH(NES L) 8,557,000
Xl 5,890,000
< 2,667,000
02 Zeltl 100,000 300,000 A 200,000
OHMEAI2 T 28 (RNESY) 100,000
X 100,000
03 Al 2 THHI 10,000 15,000 A5,000
OSMEAAITNCHBAILER2UHEN(NSES L) 10,000
Xl 10,000
SSELFC=NE 19,211,000 1,500,000 17,711,000
Xl 12,048,000
< 7,163,000
401 Al BIZ 201 8] 19,211,000 1,500,000 17,711,000
Xl 12,048,000
< 7,163,000
01 A& HI 18,891,000 1,295,000 17,596,000
O28dF2 NS (NEFY) 18,891,000
Xl 11,728,000
S 7,163,000
02 Zeltl 300,000 200,000 100,000
OssdFc2Hgddt(NESY) 300,000
Xl 300,000
03 A& =2 THHI 20,000 5,000 15,000
O2ELFT2MHAER2UB(NESY) 20,000
Xl 20,000
AHEZ~FE)INEN S 5,286,000 600,000 4,686,000
Xl 3,000,000
< 2,286,000
401 AIEHIZ 28I 5,286,000 600,000 4,686,000
Xl 3,000,000
< 2,286,000
01 A& tl 5,176,000 490,000 4,686,000
O E2~Z2F)2NNHS(NESY) 5,176,000
Xl 2,890,000
< 2,286,000
02 Zeltl 100,000 100,000 0
O (E3~-Z2F )2 N HSZeH(NSESY) 100,000
Xl 100,000
03 Al 2 0HHI 10,000 10,000 0
OFSMES~-FH)IXNZNBANEL2UE(NSES
) 10,000
Xl 10,000
HESAZXNEHE 643,000 600,000 43,000
Xl 100,000
< 543,000




A= XNEggde= M E2EESE
M NYCALHER
&?: Xeess (=& J)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
401 Al HIZ 201 Y| 643,000 600,000 43,000
X 100,000
< 543,000
01 A& HI 643,000 490,000 153,000
OMJHSAIXNEZNZ(RNSSY) 643,000
Xl 100,000
< 543,000
SHMAA=INECHE 6,906,000 0 6,906,000
Xl 4,834,000
< 2,072,000
401 Al HIZ 201 8] 6,906,000 0 6,906,000
Xl 4,834,000
< 2,072,000
01 A& HI 6,586,000 0 6,586,000
OSAA22A2XNEHAE(RNESY) 6,586,000
X 4,514,000
< 2,072,000
02 Zeltl 300,000 0 300,000
OsHad2I2NcHL2ZH(ASES L) 300,000
Xl 300,000
03 A& = THHI 20,000 0 20,000
OSHAAINCHLSALELR2UHE(NSSY) 20,000
X 20,000
NgeAL 49,030,700 48,996,900 33,800
202 04l 26,400 26,400 0
01 = LH 4 Hi 26,400 26,400 0
OXNgEAL =0 26,400
203 R =&t 4,300 4,500 A 200
03 AIMF=XH R =AY 4,300 4,500 A 200
OXNgEgRFA 4,300
401 AIEHI L 2 CHYI 49,000,000 48,836,000 164,000
01 A& HI 47,600,000 47,236,000 364,000
OXgE A 47,600,000
02 Zeltl 1,200,000 1,400,000 A 200,000
OXgS A 22l 1,200,000
03 A& =2 THHI 200,000 200,000 0
OXg A Al S RO HI 200,000
A0 =sN2d 304,000 304,000 0
202 04l 4,000 4,000 0
01 201 b 4,000 4,000 0
o2 X g3 xHel ol 4,000




M ox
40 5 4

A SA - SAEA) - MRAY - BES 0l &t o il HImEET
401 A& HI L 2Ol 300,000 300,000 0
01 Al Hl 300,000 300,000 0
OXgEo 2N E4 300,000
ERUESEXZA 75,913 66,400 9,513
101 @124 dl 75,913 66,400 9,513
4 DIt Z2XREES 75,913 66,400 9,513
ORESFASY
48,240 «245X H 2«31 [H 70,913
OS5t AtE 28 5,000
ANLYE=Z2J0AHEX 1,380,000 1,380,000 0
308 XtXIEHH SOl A 1,380,000 1,380,000 0
01 AXHHILEES 1,380,000 1,380,000 0
OXNgEe2 301244 1,380,000
CE2EESYTUTR 210,000 210,000 0
308 MtXIEHMSOIH 210,000 210,000 0
(-SRI 210,000 210,000 0
OE2EESE+0RS 210,000
o= A 8,227,800 7,355,000 872,800
FUSJAAS FHZH 4,800 5,000 A 200
203 YR =&l 4,800 5,000 A 200
03 AIMZ=AH R =AH| 4,800 5,000 A 200
OXNSSH T2 AMEFA 4,800
FOU=JATZAY 8,223,000 7,350,000 873,000
403 MtXISHH S =0l & 8,223,000 7,350,000 873,000
01 XM A2E X 8,223,000 7,350,000 873,000
OXNSESE T2 AL 8,223,000
NS S2-stAg =2 799,872 404,872 395,000
AL Se -3ty 799,872 404,872 395,000
201 et 245,000 200,000 45,000
01 At 2t 2l 245,000 200,000 45,000
pt=ZHl 245,000
OLSAANDHAMAREN 245,000
202 O4dl 1,872 1,872 0
01 = LH o4 1l 1,872 1,872 0
OSegRF 1,872
207 A RO 150,000 0 150,000
01 A3 39 150,000 0 150,000
Ouesegagdsd1sd 150,000




NAgeAde= M E2EESE
NS AL
NS HIALFA (cho &)
2. 2A B E(AN) - MEAY - BYS 0l &t o8 il HlnE2
301 gt L= 3,000 3,000 0
09 HALAHIEA S 3,000 3,000 0
O HHAHASEIIIXA 3,000
308 AXIEtH S0l A 400,000 100,000 300,000
01 IXNHHBANEES 300,000 0 300,000
OEesse2dst 300,000
1037/ 2SoHUHe B HALS I 100,000 100,000 0
OB F=RHASX A 100,000
SUSHEIMEAS 5,145,000 5,146,000 A 1,000
Xl 5,145,000
AEET2FEZNH 3,150,000 3,151,000 A 1,000
Xl 3,150,000
403 UHXSHHS =0l & 3,150,000 3,151,000 21,000
Xl 3,150,000
01 HIXSHMA=2E X 3,150,000 3,151,000 A 1,000
OREEERNA(NSESY) 3,150,000
X 3,150,000
DEMDIESRMM 398,000 398,000 0
X 398,000
403 MtXISHHE X201 & 398,000 398,000 0
Xl 398,000
01 XM A=2EE 398,000 398,000 0
OWSMIFERNE(NSESY) 398,000
Xl 398,000
HelolEs Y H 697,000 697,000 0
Xl 697,000
403 A XIEHHS =0l A 697,000 697,000 0
X 697,000
01 X EHHM A= LE L 697,000 697,000 0
OeloEs Y (RISSY) 697,000
Xl 697,000
OtMstE e A =4 900,000 900,000 0
Xl 900,000
403 XA SA=0l& 900,000 900,000 0
Xl 900,000
01 HIXSHMA2E X 900,000 900,000 0
OORSEHSB TS (NSEY) 900,000
X 900,000
FAHCES 5,400,000 0 5,400,000
29FCAHL 5,400,000 0 5,400,000
ZAEFE MY 5,400,000 0 5,400,000




A= Xy AL= SAEREESED
g 29E-ES
ool BAHCAM EERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
308 X EHSOIA 4,200,000 0 4,200,000
07 IXNHHARE = 4,200,000 0 4,200,000
OUFRESAZEEISHSIAATASHIRE 4,200,000
403 MtXISHHE X201 & 1,200,000 0 1,200,000
02 SN 2SOH S X HE AL B 1,200,000 0 1,200,000
OHRZAAMBLAZ(R0/~F &) 1,200,000
HY2HZH(E2EESE ) 87,262 83,662 3,600
Jl23&dl 87,262 83,662 3,600
JlE= 3l 87,262 83,662 3,600
201 Let24E] 50,054 46,454 3,600
01 At 22l 45,054 41,454 3,600
pt=2Hl 28,254
ORN2SANRESFHYS 28,254
[E=3=g:] 16,800
OXNgCxmA 2 BRF=EZ A 16,800
03 &AL2 I 5,000 5,000 0
OE2Ad2ad 22 S 5,000
202 044l 37,208 37,208 0
01 S LHOIYI 37,208 37,208 0
OE2EE IR0 37,208
HWees(E=22E38 ) 23,470,000 19,825,000 3,645,000
HEHHXZE 23,470,000 19,825,000 3,645,000
Xl 2 X &b 2 23,470,000 19,825,000 3,645,000
705 =3 Acl34E 23,470,000 19,825,000 3,645,000
03 Al - SXGHLISoH=334E 15,500,000 13,000, 000 2,500,000
OX S AR (06E) 4,000,000
OXgZ AL (074) 4,000,000
O2tXE XSS AS (094) 5,000,000
OXgZ AL (104) 2,500,000
04 Al - SXEIHLI S0 =30l Kt&&E 7,970,000 6,825,000 1,145,000
OX S AR (06E) 840,000
OXgZ AL (074) 980,000
OXEZ AR (104) 875,000
OXS AL (124) 875,000
OXEZ AR (13H) 1,050,000
O3t X & XS AE (094) 350,000
OY9 B0 E LT ZOHE S AH(12H) 525,000
O2XJ XSS AS (134) 875,000
OXegZ AL (154) 1,600,000
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= 28,620,000
< 5,724,000
ST EETHT AT EAY 11,820,000 7,441,000 4,379,000
= 8,100,000
= 3,720,000
401 Al& HI & 28I 7,500,000 6,000,000 1,500,000
= 4,500,000
< 3,000,000
01 A& HI 7,250,000 5,190,000 2,060,000
OS2 sHIAZEAMY 7,250,000
= 4,350,000
< 2,900,000
02 2eltl 240,000 800,000 560,000
OscstadsHoAZEAMY 240,000
= 144,000
< 96,000
03 A& 2 THHI 10,000 10,000 0
OS2l AT EAY 10,000
= 6,000
< 4,000
403 MtXISHEA201 & 4,320,000 1,441,000 2,879,000
= 3,600,000
< 720,000
01 AXSHHMA2E = 4,320,000 1,441,000 2,879,000




NENELEEE SN EED
HE: tEYSNA e
o4 MSFHSEZHFA (e &)
AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
OZ2stsgd BT ATHAY 4,320,000
= 3,600,000
= 720,000
SIEAHE YR 6,026,000 4,028,000 1,998,000
202 04| 15,200 19,000 A 3,800
01 2LHOHI 15,200 19,000 A 3,800
ot A& H =& 8l 15,200
203 € R =&lY| 4,800 5,000 A 200
03 A=A SR =AH| 4,800 5,000 A 200
OotE 2GR FA 4,800
401 Al HI YL 2 0HHI 6,006,000 4,004,000 2,002,000
01 A& HI 6,000,000 4,000,000 2,000,000
OdotEJI2HE =& 6,000,000
03 Al& 201 Y] 6,000 4,000 2,000
Odot&EJI2HE =& Al & 20| 6,000
HAHA 13,400,000 2,249,000 11,151,000
= 13,400,000
AR AHL 13,400,000 2,249,000 11,151,000
= 13,400,000
403 XXISHH S K201 13,400,000 2,249,000 11,151,000
= 13,400,000
01 XX SHMAA2EX 13,400,000 2,249,000 11,151,000
OARDHAL 13,400,000
= 13,400,000
US2U233MAEAE S 108,800 9,000 99,800
MzadsdEstxsd 108,800 9,000 99,800
SO e Me gl 108,800 9,000 99,800
201 Bt H | 8,000 8,000 0
01 AP 22l Yl 8,000 8,000 0
Ogetg| 3,000
OUSLAUNLBAMNEROS 3,000
O2g+g 5,000
OLSUHONL AR 2450 5,000
202 04| 800 1,000 A 200
01 2LH 04 HI 800 1,000 A 200
OYSSHINL =R H] 800
307 212t01 & 100,000 0 100,000
02 DIZtZAAMEE X 100,000 0 100,000
OYsZ0AR e 100,000




= NEgeHdL= fAM otE
M StEANESZUES
?l: StEANBEEER CEE-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
SHEAMESZUEHE 105,800 126,000 A 20,200
SHEAMESES 105,800 126,000 A 20,200
StEMSSEELS 105,800 126,000 A20,200
201 Let24d] 55,000 25,000 30,000
01 At 2teltl 55,000 25,000 30,000
Ogst=2tl 55,000
OctaEMNEEENZRAS 5,000
OctE MG = 50,000
202 O4dl 800 1,000 A 200
01 = LH 4 Hi 800 1,000 A 200
ot AMEEENHI 800
308 XXM SOIA 50,000 0 50,000
01 IXNHHBNEES 50,000 0 50,000
Odsd=2stge 50,000
SR XNES+FE 12,033,400 14,237,900 A 2,204,500
= 8,800,000
< 3,233,400
StEEHIF& 12,033,400 14,237,900 A 2,204,500
= 8,800,000
= 3,233,400
SHE ZHIAY =2 3,233,400 2,317,900 915,500
201 Let2d] 3,500 5,500 A 2,000
01 At 22l 3,500 5,500 A 2,000
pt=2Hl 3,500
Ot HHIAL Z2E AR RS 3,500
202 044l 9,900 12,400 A2,500
01 = LH o4 1l 9,900 12,400 A2,500
[Iot&E EHIAH =& O 8l 9,900
401 AIEHI L 20 400,000 0 400,000
01 A& tl 400,000 0 400,000
OXgotdEX & 400,000
403 XA SA=0l& 2,820,000 2,300,000 520,000
01 X SHHMA2E X 2,820,000 2,300,000 520,000
OJIE Mg +=2 I ALY 300,000
[JLEIGHE I E = AL 2,520,000
=SIIotE S X 2= At 8,800,000 11,920,000 A 3,120,000
= 8,800,000
403 A X EHHS 20l A 8,800,000 11,920,000 A 3,120,000
= 8,800,000




M ox
40 5 4

- _ _ RE]
AT SA B O (3H) - MEAY - BES Ofl At o %Eﬁ HR=2
01 XIS A2 X 8,800,000 11,920,000 A 3,120,000
O20IctE X ES=ALE 8,800,000
= 8,800,000
HEMSH A (Gt ) 90,159 106,848 16,689
Jl=2 &l 90, 159 106,848 N 16,689
Jl2 &4l 90, 159 106,848 N 16,689
201 LBt Y| 72,559 84,988 N 12,429
01 AP 22| d| 72,559 84,988 N 12,429
OBt &H| 58,279
O3 NERALIANESERLYS 58,279
O2&H| 14,280
Ooctd LT 2e| Y RHAZRAS EH| 14,280
202 o4 H| 17,600 21,860 N4 260
01 2L I 17,600 21,860 N4, 260
OASKALSF 0| 17,600
MEE=(otE) 1,480,000 1,522,000 A 42,000
WEAHA K= 1,480,000 1,522,000 A 42,000
2ol Ilofl =2 (X e Hab&th) 1,480,000 1,522,000 A 42,000
705 Ol==Qc 34 1,480,000 1,522,000 A 42,000
03 Al - EXYIHED S22 4 1,200,000 1,200,000 0
o ASXIHSAS (06K HIMED2) 400,000
OZHASRMEAS (07X SHHE D =) 800,000
04 Al - EXYHED| 20 4=20| XFakst 280,000 322,000 A 42,000
OZHASRIMEAS ('06KISIHED|2) 84,000
OZHASRMEAS (07X HHE D S) 196,000
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A2 AL SN BEALANLL
g Ngcasd R 2
& XNgEFX 2t (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2

03 A F=XH R =ZH| 4,800 5,000 A 200
OXNgEsX 2Ll AEF2 4,800

206 M= Hl 30,000 30,000 0

01 M2 4l 30,000 30,000 0
OMegxgdsdstzZs2 30,000

303 Z&= 7,000 6,300 700

01 243 7,000 6,300 700
OXHAHol 2L R XA st 7,000

305 a2 S 20,000 20,000 0

01 HH&a=E 20,000 20,000 0
DAl HZEEa3 20,000

401 AIEHI L 20 7,700,000 5,000,000 2,700,000

01 A& Bl 7,637,000 4,964,000 2,673,000
OXgEFsX el AL Al &I 7,637,000

03 Al 2 THHI 63,000 36,000 27,000
OSSR 2ASAE 2L 63,000

405 TtHabF S| 1,000 186,000 A 185,000

02 TN 1,000 1,000 0
OAEI ALV E2ENS 1,000

T2 orM2te 300,000 500,000 200,000

401 AIEHI L 2CHEI 300,000 500,000 200,000

01 A& Hl 297,000 496,000 A 199,000
OEZotM 2| AFH Al & I 297,000

03 A& 2 THHI 3,000 4,000 A 1,000
O otM el AFH Al 20 3,000

I ES 88,127 85,100 3,027

201 et 8,827 9,600 ATT3

01 At 22l 4,827 5,600 ATT3
pt=2Hl 1,827
OLEHEEEESRAUH 1,827
Oo=l 3,000
OH=QPN=H Lo =E(0kE) I =t 3,000

02 2324l 4,000 4,000 0
OAE EHI R XY 4,000
O0lsSAE=IInIEZIMNES 2,000
O0lsA =82l 2,000

202 04l 28,800 25,000 3,800

01 S LHOYI 28,800 25,000 3,800
O EAEAR =0 28,800




A2 AL SN BEALANLL
g Ngcasd R 2
& XNgEFX 2t (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2

401 Al HIZ 201 Y| 50,500 50,500 0

01 A& HI 50,000 50,000 0
O2e M & 2 X &4 X 50,000

03 A2 S THHI 500 500 0
O2d8MetZEX A I AIL R0 500

C2UEH LS 50,000 100,000 250,000

401 AIEHIZL 2CHYI 50,000 100,000 A 50,000

01 A& Hl 49,000 99,000 250,000
OE2UEEASIAIG AIEHI 49,000

03 AIE S THHI 1,000 1,000 0
OEZHE ML AL Al E 2 1,000

W - B oHA 2te| 7,017,500 6,721,900 295,600

WA ALY 4,170,000 5,203,000 A 1,033,000

401 A& HIZ 201 8] 4,170,000 5,203,000 A 1,033,000

01 A& HI 4,130,000 5,170,000 A 1,040,000
T SO0 M A Al & I 4,130,000

03 Al 2 THHI 40,000 33,000 7,000
WS NMASE AL RO 40,000

e BZAY 1,717,500 968,900 748,600

201 L4l 900 900 0

01 At 22l 900 900 0
o=l 900
OCunzE22 A F& 1= 900

202 Odl 16,600 18,000 A 1,400

01 = LH 4 Hi 16,600 18,000 A 1,400
OneE22AEF2 0 16,600

401 AIEHI L 2 CHYI 1,700,000 950,000 750,000

01 A& HI 1,683,000 940,000 743,000
OugE22 A A& 1,683,000

03 AIE 2 THHI 17,000 10,000 7,000
OneE82ASAIE 20U 17,000

DU 200,000 60,000 140,000

401 A& HIZ 201 I 200,000 60,000 140,000

01 A& HI 198,000 59,000 139,000
O UM ACAl & H 198,000

03 Al S THHI 2,000 1,000 1,000
OngdUEMRCAI L RO 2,000

wgdLEH 750,000 370,000 380,000




S EE SN BEAM
P AgEEEsA R 2
D WEN PGB (B9 ®R)
224 ZBS(AN) - HRAY - BES 0l &t o il HImEET
401 Al HIZ 201 Y| 750,000 370,000 380,000
01 A& HI 743,000 365,000 378,000
OneEdLFZ AL 743,000
03 A2 S THHI 7,000 5,000 2,000
OuadUdEFEZAL2UYI 7,000
S e E X E#4 X 60,000 0 60,000
401 AIEHIZL 2CHYI 60,000 0 60,000
01 A& Hl 59,000 0 59,000
OSEMEEXZAXAEH 59,000
03 AIE S THHI 1,000 0 1,000
DS MeZEXEAIAIL R0 1,000
HERIE= 120,000 120,000 0
401 AIEHI L 201 120,000 120,000 0
01 A& HI 119,000 116,000 3,000
OHERXE==AI&H 119,000
03 AlE 2 THHI 1,000 4,000 A 3,000
OHESXNE=AL20Y] 1,000
Saz2d 61,396 56,356 5,040
SEANEHA 61,396 56,356 5,040
101 @124 dl 8,036 7,576 460
04 JIZtHZ2XREES 8,036 7,576 460
OALSEANEUARY 7,236
I5CHALE 2 800
201 ¢er24l 30,700 25,000 5,700
01 At 22l 10,700 13,000 A 2,300
Oget==&H| 8,900
OsEs2UENRAS 2,200
OZEEIJLSAMNIEHS 1,700
OEZAMEIIRE A A 2,500
OKSAZ=EN 500
OHJIZXMclblS 2,000
o=l 1,800
OANgaxg=E 1,500
OAgaxdse g 300
02 =224l 20,000 12,000 8,000
A& & Hl s Xl 20,000
OZFEZAMEI XU (sTHEAED]) 20,000
202 O4dl 14,500 15,620 A1,120
01 = LH 4 Hi 14,500 15,620 A 1,120




A2 AL SN BEALANLL
HE: NYCHEUSN e
ol AlgaSy (B9 ®R)
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ofl At o %Eﬁ HR=2
OZEAEERF=E 0| 14,500
207 I & 8,160 8,160 0
03 A& 32| 8,160 8,160 0
OANEESII ML 27 8,160
OAAeds 1,000
OEZFAM 1,400
OANEsEsHZ 1,200
SUTAS 1,560
OANEAELATNES 3,000
HAS X 22l 139,740 94,409 45,331
ANEZEF K22 139,740 94,409 45,331
101 121 H| 10,740 10,009 731
04 JI2ZtHIZ22NEES 10,740 10,009 731
OEgdgaeosy 64,9303 x1H +150L 9,740
[J5HALSI 2 E 1,000
201 et 9| 96,000 46,000 50,000
01 AR 22l ] 50,000 0 50,000
OFEAFOI & Ol AbHI 50,000
02 Z2=2=24%H| 46,000 46,000 0
0= dl 30,000
OFAHE S AHZHI 30,000
[OJAIE &H| S XlH| 16,000
OHESHESAES K22 ]| 10,000
OFXNLH =&Y 6,000
204 2R 42 H| 33,000 38,400 A5,400
03 EHELE2AY 33,000 38,400 A5,400
(el & =SH|(YeHa) 50,000&*55% x12& 33,000
HHSAFH (SHALAYL) 4,246,348 4,280,788 34,440
oA 2AY| 3,695,865 3,761,335 NB65,470
ol 2AH| 3,695,865 3,761,335 NB5,470
101 21 214| 3,581,925 3,642,955 A61,030
01 = 3,218,294 3,178,335 39,959
mPIR=3=] 2,364,101
Od=EH 74,407
-43 74,407,000 x1H 74,407
Os=2H 2,053,637
-52(3088) 4,238, 1003 x»4H x12& 203,429
-2 (245 2) 3,492,200 «15H «12& 628,596
-73(1732) 2,835,500 x22H x12& 748,572




43 NARHALR SN BEALAYL
M HH2YGU(BSEAE AL L)
chel: ol gy
A2 .2 FH-S(BH) - HRAY - BES il
-82(1188) 2,190,000& 18K x12& 473,040
OFSE=El=; 236,057
d24+Y  2,053,636,800 1/ 12+50%*23] 171,137
-E2E0 =S 64,920
254 01 & 130,000& »21H »12& 32,760
- 20201 425 018 110,000 x5H 123 6,600
- 158014204 018 80,000&«11H~12& 10,560
- 1049014154018 60,000& 15 «12& 10,800
- 5 01 4104 01 8¢ 50,0003 x7H 123 4,200
458,639
O=g 20,498
HesR=Y 20,498
AR 4,238,100 4 1%+2H « 123 4,171
=11 3,492,200& x4 . 1%*5H »12& 8,591
= e 2,835,500& *4. 1%*4H 128 5,581
7R 2,190,000& *4. 1%*2H »12& 2,155
ONAEE = 76,160
- s 45,600
i < Xt 40,0003 x50 x128 24,000
- JIEFILS 20,0003 708 «12& 16,800
i = 30,0003 x8YH 128 2,880
JHMS(AMAE) 80,0008 2H «124 1,920
- AESHEESE 18,560
nsshy 463,990& x10H #4 3| 18,560
-R0FAE 500,000& x2H 128 12,000
OExZ2f+E 35,040
-AE2Rse 3,600
43 50,0003 x6H x128 3,600
-Exd2Ed0I2EESY) 31,440
- 53014 50,000 x5 128 3,000
- 6,72 30,0003 35 128 12,600
- 82 0|5t 20,0003 x15Y «128 3,600
COHAEZ (1A IS E)
30,0003 *20H x12& 7,200
AFZ2 (AP DIIAR) 20,0002 %15 122 3,600
I3 (286~7=2) 10,000& +5H « 122 600
IHt2(288~92) 20,0002 x 18 <128 240
HAHAR2(3H014) 50,0008 *1H«12¢ 600
OIS 325,141
SNt 2R 306,832
FH= 10,3313 x10Al 2t 55 » 122 68,185
Z= 10,331 *35A| 2t+55H « 128 238,647




A2 RAREALR SN BERALAL L
HM: HYS2HAAH (B AHLAMY D)
Sel: o2y (B9 ®R)
AR RA BB OBH) - MBEAY - BAS O Ak o8 ﬁlf& HD=2
- AR 18,309
2 Gt | 4,238, 100 x9%*x4H « 128 18,309
ORYEsRAE 50,000& *3H x12& 1,800
O A ZAH| 130,000& x60H x12& 93,600
OYEEF Ot 2,053,636,800& *1/12%60%*23] 205,364
OHIE &
2,128,043,800& «1/12%86%+*1/30%x 19 96,590
03 2INHA22XNHE %= 363,631 334,765 28,866
JEzeEsd 196,737
(OPIR==| 1,612,4103 x5H 128 96,745
oan=3 96,745,000 *1/12%400% 32,249
Od Xt 62,000& x5 25 7,750
o254 5,220
- 108 01 & 264 ,000& 128 3,168
- 10 0| 8t 171,000& = 12& 2,052
[@IE==x:]| 150,000& *5H *23| 1,500
Ol 32,400,000& 32,400
o222 62,000& *1.5x5H %20 9,300
OANZIA2 RS
1,612,410 /209%1.5%4 Al 2t x5 x50 11,573
OESANSEEXJIS 107,274
(OPIE=3=| 1,392,760& x4H x12& 66,853
oan=2 66,853,000 *1/12%400% 22,285
O9 XY 54,000& 4«25 5,400
o=2s52Y 4,236
- 10 0] & 236,000& x12& 2,832
- 104 0| 117,000& =128 1,404
O Hl 8,500
Oxs=g 4,800
Ol 2 X+ 40,000 x5 x12& 2,400
OJIEISE 20,000 x8H ~12& 1,920
OIS (MM R ) 20,000 x2H x12& 480
OwsS 8 x| 60,0003 *9H x12& 6,480
OY&E F O] 700,000& x9H 23] 12,600
OFHZAH| 130,000 x9H »12& 14,040
OfAXSHLAE R 1,000
Os5U A 2 E 20,700
204 = 2 4= A H| 113,940 118,380 N4, 440
01 S HR-HAY| 9,600 9,600 0
O~ 400,000& x1H =12 4,800
NPy 100,000& *4H x12& 4,800
02 M2 &2 xH| 104,340 108,780 N4, 440
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> A
A & 0l & AF 2 E A A
EEEEEE SN BSRALANLL SR A
dresE A2
ZNsSLES (Sl & &)
- _ — d =
SN P SAGEH) - HRAY - BYS 0l &k o4 e HlnE2
ML SR 28,830,426 27,187,084 1,643,342
Xl 1,448,000
< 27,382,426
cEssi2e 25,153,932 23,464, 1,689,797
Xl 1,448,000
< 23,705,932
Zusydas 9,902,900 11,203, A 1,300, 100
Atel &2 & 9,902,900 11,203, A 1,300, 100
203 YR =&t 2,900 3, A 100
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